
systerII called Notes “Cuttolners tte usIIig the cloud as a 、vay to mOve to

MIicIOsO■ ,"Cttosscla stts,Cit量聡 ncw customers i量 oO欲 OsmittKlhc,
Coca―Cola,alld Iむai Foods But wait― IBM ciaコ、 it's doi■ 3 tlte salne ii鴫
rl」lt bЖk tO MicIOsOi IBM sclls a cloud― bascd mail sOlutiOn calicd LottlsLive

iNotes alld has lurcd av「 ay iOm MicrosOi stlch custOmcrs as Panasonic)、vhich

is IInOvhg 300,000 olnployees Onto ttIIB卜l oloud

Onc t抽鴨 Microso■,Goo31o,alld lBM all agce oni thc battle cvcr clolld

comptting is ollly Just bC3面 ねg FtDr old― guttd tech compallies,it o∬ ёrs the

chance to add nc、 v cllstomcrs But it also brlllgs bi3 ri〔 よsi d■lrln3 big shitts in

technology likc this one, indllstty giants can be swcpt aside as nc、 v leaders

cmergc Tcn yca「 s iom noⅥl ic tech landscapc is cctta菫 1 lo look vc,

different.

41. According to tlre passage, the e-mail

services EXCEPT_
sery1ce provrder wili also ollbr the

A. e-mai1 accounts.

C. softrvare updates.

B e-mail security.

D. softrvare debugs

R lr-rr- ::1- i i;

D. more u:grs

the customer of Microscit in tenns of

B. Kraft Foocis.

D. GlaxoSrrrithKline

BAね mous b厖みvOrd
D A new teclmolo,v

42 The improvements of the cloud-based mail accordrig to the passage are all

the fb1lora,urg EXeEFT

.r 1.,E3r COSt

C larqer sir.rrlSi

43. Wtuch oi the following is NOT

cloud-based mail?

A. Coca-Cola.

C. Panasonic,

44.恥価ぬ ofthe followmg statements is cOrrect according to the passage?

A.llle avgttc c醸 o盤領 can sa■rc 30 percttlt byコ 2(ル電 tO ttE c10ud.

BL〔i∝os(濃 is ttЮ  fLstto ofer cloud― based mail to corporate customers

C■ lere are oppomities and tten.・ es h llstt cloud― based s(窮 ices_
D_Lttge∝理Юtt10BS Can clex ttr nvals in sl■ i■ing to the new
tecmol。雰

45.Whicll oftt following is tte close"通 Ineamg ofthe word“ doud''in tts

passage?

A. A collection of raoisture

C. An mcertain stage.

Passage Four

If a Martran came to earth and rled to understand what human beinss do


